Quiz ? STAT 381, APPLIED STATISTICAL METHODS I, SPRING 2015

NAME: K@

Problem 1. (5 points) You want to estimate the average length of time shoppers spend
on a website. A random sampling of 434 users gives a sample average of 5.6 minutes
with a sample standard deviation of 3 minutes. Find a 99% confidence interval for the
population mean time.
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Problem 2. (3 points) (a) You want to estimate the proportion of the population who
owns a WII with 95% confidence. What minimum sample size do you need in order to
guarantee a margin of error no greater than 2%?7
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(b) You find that 14 out of the first 100 people surveyed own a WII. What is your
revised estimate for the sample size you need to keep the margin of error below 2%?

p=.4

Bonus (3 points) Find a 99% confidence interval for the population standard deviation
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